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Exercise 4a.1:

Prove the Associate Law for A(BC) = (AB)C using truth table. 

A B C AB BC A(BC) (AB)CA B C AB BC A(BC) (AB)C

0 0 0

0 0 1

0 1 0

0 1 1

1 0 0

1 0 1

1 1 0

1 1 1

A B C AB BC A(BC) (AB)C

0 0 0 0 0

0 0 1 0 0

0 1 0 0 0

0 1 1 0 1

1 0 0 0 0

1 0 1 0 0

1 1 0 1 0

1 1 1 1 1

A B C AB BC A(BC) (AB)C

0 0 0 0 0 0 0

0 0 1 0 0 0 0

0 1 0 0 0 0 0

0 1 1 0 1 0 0

1 0 0 0 0 0 0

1 0 1 0 0 0 0

1 1 0 1 0 0 0

1 1 1 1 1 1 1



2

Prove that         is equal or not equal with         by using the truth table.             

Self-Test: 

A B A B AB AB AB
0 0 1 1 0 1 1
0 1 1 0 0 0 1
1 0 0 1 0 0 1
1 1 0 0 1 0 0

Solution:

≠
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Exercise 4a.2: 

Resource: Floyd, Digital Fundamentals, 10th Edition, 2009. 
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Exercise 4a.3:

Draw the logic circuit represented by each expression:

(i) .

(ii) .

(iii) .

Resource: Floyd, Digital Fundamentals, 10th Edition, 2009. 
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Exercise 4a.4:
Determine which of the logic circuits are equivalent.

Resource: Floyd, Digital Fundamentals, 10th Edition, 2009. 
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